3D inversion of secret model

Dublin, 31/03/2011



Used Weerachai’s wsinv3d (1 processor)
mpedance only

Run on a iMac: 2.85GHz, Intel core i5, 8GB RAM
Decimation of sites: ~every 3" other site: 50 sites

Run 3 periods per decade (19 total):

0.1585E-01, 0.3981E-01, 0.6310E-01, 0.1000E+Q0,
0.3981E+00, 0.6310E+00, 0.1000E+01, 0.3981E+01,
0.6310E+01, 0.1000E+02, 0.3981E+02, 0.6310E+02,
0.1000E+03, 0.3981E+03, 0.6310E+03, 0.1000E+04,
0.3981E+04, 0.6310E+04, 0.1000E+05

Mesh: 44x44x33

After 3 runs (20 iterations each), RMS is 3.764
and not improving.
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